## RESOLUTION NO. 23-00 CITY OF CENTERVILLE, OHIO

SPONSORED BY COUNCILMEMBER Susen Leverch ON THE 19th DAY OF, 2000.
A RESOLUTION ACCEPTING THE BID SUBMITTED BY FLORA EXCAVATING FOR THE CENTERVILLE STATION ROAD STORM SEWER INSTALLATION PROJECT 2000 FOR THE CITY OF CENTERVILLE AND TO AUTHORIZE THE CITY MANAGER TO ENTER INTO A CONTRACT IN CONNECTION THEREWITH.
WHEREAS, the City of Centerville advertised for bidders for the Centerville Station Road Storm Sewer Installation Project 2000 according to specifications prepared by the City, and
WHEREAS, Flora Excavating was the low and best bidder.
NOW, THEREFORE, THE MUNICIPALITY OF CENTERVILLE HEREBY RESOLVES:
Section 1. That the bid submitted by Flora Excavating for the Centerville Station Road Storm Sewer Installation Project 2000, for the City of Centerville, be and is hereby accepted for the total bid price of \$188,596.11, a copy of which is attached hereto and incorporated herein, marked Exhibit "A".
Section 2. That the City Manager is hereby authorized to do all things necessary to execute a contract with Flora Excavating for the storm sewer installation work as stated above.
Section 4. That this Resolution become effective immediately upon passage.
PASSED this 19th day of June, 2000.

Depot Mayor of the City of Centerville, Ohio

ATTEST:

Clerk of Council, City of Centerville, Ohio

#### **CERTIFICATE**

The undersigned, Clerk of the Council of the City of Centerville, Ohio hereby certifies that the foregoing is a true and correct copy of Resolution Number 23-00, passed by the Council of the City of Centerville, Ohio on the 19th day of 3000.

Clerk of Council

Approved as to form, consistency with the Charter and Constitutional Provisions.

Department of Law Robert N. Farquhar Municipal Attorney

#### BID SHEET 1 OF 4

#### BIDDER'S PROPOSAL

#### CENTERVILLE STATION ROAD STORM SEWER INSTALLATION PROJECT 2000

Submitted by:	FLORA	EXCAVATING,	Div.	of	RICHLAND	GARDENS,	INC.
Having read the specifications and examined the drawings included herein:							

## Centerville Station Road Storm Sewer Installation Project - 2000 City of Centerville, Ohio

for the construction of said project in Centerville, Ohio, and having also taken into account all addenda issued, the undersigned hereby propose to furnish all materials and to perform all labor, as specified and described in the said Specifications and as shown in the Plans for the said work, for the following sums:

#### A. STATEMENT BY ALL BIDDERS:

The receipt of the fol	lowing Addenda to the	e Contract Document	(drawings and s	pecifications) is	s hereafter
acknowledged.					

-	Addenda No.	Date
	Addenda No.	Date

## B. CONSTRUCTION COST INFORMATION (breakdown required)

The bid shall be broken down as follows and the grand total shall be the sum of all items.

		The state of the s	
DESCRIPTION	QUANTITY	UNIT AMOUNT	AMOUNT
BASE BID - STORM SEWER RELAT	ED IMPROVEMENT	<u> </u>	
Roadway/'Erosion Control Related Iter	ns		
202 Clearing & Disposal to R/W line (includes sidewalk, driveway approaches, pipe and brush)	Lump Sum	\$4,000.00	\$_4,000.00
207 Temporary Erosion Control	Lump Sum	\$2,000.00	\$2,000.00
614 Traffic Maintenance	Lump Sum	\$3,950.00	\$_3,950.00
623 Construction Staking	Lump Sum	\$1,200.00	\$_1,200.00

				BID SHEET 2 OF 4			
DES	CRIPTION	QUANTITY	UNIT AMOUNT	AMOUNT			
624	Mobilization	Lump Sum	<u>\$1,900.00</u>	\$_1,900.00			
659	Hydroseed – all disturbed areas	3467 SY	\$	\$_3,467.00			
660	Sodding	89 SY	\$1.85	\$164.65			
Stor	m Sewer Improvement Related Iten	15					
603	12" Concrete Storm Sewer, Install	294 LF	\$16.00	\$_4,704.00			
603	18" Concrete Storm Sewer, Install	161 LF	\$20.41	\$_3,286.01			
603	21" Concrete Storm Sewer, Install	43 LF	\$ 25.55	\$1,098.65			
603	30" Concrete Storm Sewer, Install	400 LF	\$ 44.71	\$_17,884.00			
603	36" Concrete Storm Sewer, Install	1857 LF	\$55.95	\$ <u>103,899.1</u> 5			
604	Catch Basin, 2 x 4, Install	10 EA ·	\$ 1,393.00	\$_13,930.00			
604	Connect to existing Catch Basin/ Modify Catch Basin	1 EA	\$ 500.00	\$500.00			
604	Manhole, Type A	1 EA	\$_1,415.00	\$_1,415.00			
TOTAL FOR STORM SEWER RELATED IMPROVEMENTS \$_163,398.46 (BASE BID)							

#### OPTIONAL ADDITIONAL WORK - ROADWAY CROSSING RELATED IMPROVEMENTS

Note: The City may include the following work as part of this contract. Addition of this work is dependent on prices received. This work includes removal of the existing culvert, etc. and construction of twin 36" pipes (and associated end structures) under Centerville Station Road. The contractor will be permitted to close Centerville Station Road for one day in order to install the pipe. The road closure must take place before August 18, 2000 (to coordinate with school start dates). The contractor will be permitted to re-open the roadway overnight one night only with gravel backfill. All asphalt work is to take place the second day and again the road may be closed to do this work. All road closures must take place between the hours of 8:15 AM and 4:00 PM. All signage for the detour and road closure is to be included in the price bid for traffic maintenance.

#### Roadway/ Erosion Control Related Items

202	Clearing & Disposal to R/W line
	(includes brush, fence, culvert
	pipe and headwalls)

BID SHEET 2 OF 4

				BID SHEET 3 OF 4
202	Remove tree and stump, 18-24"	1 EA	\$ 600.00	\$600.00
203	Subgrade Compaction	60 SY	\$2.00	\$120.00
301	Bituminous Aggregate Base, 7"	20 CY	\$ 200.00	\$ 4,000.00
403	Asphalt Concrete, 1.5"	5 CY	\$ 200.00	\$_1,000.00
404	Asphalt Concrete, 1.5"	5 CY	\$ 200.00	\$_1,000.00
614	Traffic Maintenance	Lump Sum	\$ 1,450.00	\$ 1,450.00
623	Construction Staking	Lump Sum	\$500.00	\$500.00
624	Mobilization	Lump Sum	\$ 500.00	\$500.00
Stor	m Sewer Improvement Related Items			
601	Rip Rap, Type B w/ fabric	37 CY	\$43.00	\$_1,591.00
603	36" Concrete Storm Sewer, Install	106 LF -	\$ 55.95	\$ 5,930.70
€ <sup>‡</sup> 604	Inlet Structure @ Road Crossing	1 EA	\$ 3,500.00	\$_3,500.00
604	Headwall @ Road Crossing	1 EA	\$ 3,500.00	\$ 3,500.00
660	Sodding	167 SY	\$1.85	\$308.95
Spe	c Misc grading around headwall and along ditch w/in easement (including temp. relocation and placement of small foot		\$ 500.00	\$500.00
TOTAL FOR ROADWAY RELATED ITEMS (OPTIONAL ADDITIONAL WORK)			\$	24,997.65

# GRAND TOTAL - ALL ITEMS

\$ 188,396.11

## C. COMPLETION DATE INFORMATION

The bid price reflected above represents a completion date of November 15, 2000. If an alternate completion date is proposed, it shall be specified hereafter.

ALTERNATE COMPLETION DATE	7 A
---------------------------	-----

#### D. CONTRACT PREPARATION INFORMATION

The bidder shall supplement proposal by supplying the following information for use in the preparation of the Contract.

NAME OF COMPANY/CORPORATION: FLORA EXCAVATING, Div. of RICHLAND GARDENS, INC.									
NAME OF PRESIDENT: _AARON FLORA									
ADDRESS: 6914 U.S. 36 East									
CITY, STATE, ZIP Greenville, Ohio 45331									
FEDERAL TAX I.D. #: 31-1506881									
TELEPHONE #: (937) 548-5303									
FAX#: (937) 547-9406									

### **EXECUTION OF PROPOSAL**

NOTE: Failure to sign proposal shall result in rejection of bid.

THIS PROPOSAL SUBMITTED BY: FLORA EXCAVATING, Div. of RICHLAND GARDENS, INC.

(NAME OF CONTRACTOR)

BY: Alora / Sec Treas. (SIGNATURE OF CONTRACTOR OR AUTHORIZED REPRESENTATIVE)	
DATE: June 14, 2000	
Contact person for Contract processing:Edward Flora	
Mailing address if different from above:	

J:\BID\C'StaRdStorm5'00.doc